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のとき最小値 このとき
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のとき最小値 このとき

のとき最大値 このとき

のとき最小値
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４.

５.

f (x) = x2 － 2x － 3とおく

　f (x) = (x － 1)2 － 4

f (0) = －3より　x
2 － 2x － 3 = －3から x = 0，2

⒤　0 ＜ a ＜ 2のとき　　　ⅱ　a = 2のとき

ⅲ　2 ＜ a のとき

最大値－3 (x = 0)　　　　　 最大値－3 (x = 0，2)

最大値 f (a)

最大値 f (2a)　　　　　　　  最大値 3 (x = 2)

f (x) = － x
2 + 4x － 1とおく．

　f (x) = － (x － 2)2 + 3

ⅰ　0 ＜ a ≦ 1のとき　　　ⅱ　1 ＜ a のとき
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６.

８.

７.

f (x) = － x
2 + 4x － 1とおく

　f (x) = － (x － 2)2 + 3

f (0) = －1より　－x
2 + 4x － 1 = －1から x = 0，4

　ⅰ　0 ＜ a ＜ 2のとき　　　ⅱ　a = 2のとき

最小値－1 (x = 0)　　　　　 最小値－1 (x = 0，4)

最小値－4a2 + 8a － 1 (x = 2a)

ⅲ　2 ＜ a のとき

f (x) = x2 － 4ax + 2とおく．

　f (x) = (x － 2a)2 － 4a2 + 2

ⅰ　0 ＜ a ＜ 2
1 のとき　　　ⅱ　a = 2

1 のとき

最大値 f (2)　　　　　　　　  最大値 f (0) = f (2)

最小値 f (2a)　　　　　　　   最小値 f (2a)
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９. f (x) = －x
2 － 2ax + 1とおく．

f (x) = －(x + a)2 + a2 － 1

最大値 f (0)

最小値 f (2)

　（答）　最大値 1 (x = 0)，最小値－3－ 4a (x = 2)

最大値 f (0)　　　　　　　　　最大値 f (0)

最小値 f (2a)　　　　　　　 　最小値 f (2)

ⅲ　
2
1  ＜ a ＜ 1のとき　　　ⅳ　1≦ a のとき
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